1.
Write the following abbreviations in full.






(3 mks)


i)
BCD
-Binary Coded Decimal


ii)
ASCII
-American Standard Code for information Interchange


iii)
EBCDIC
-Extended Binary Coded Decimal Interchange Code

2.
Explain how each of the following would affect the suitability of a room for use as a computer room:













(a) Burglar proofed door








(1mks) 
- enhances the  security system as it prevents unauthorized users from entering

(b) Availability of taps and sinks in the room 





(1mks)

– Could be detrimental since water can cause damage to computer equipment








3.
Suggest how computers may in future be made more users friendly for persons that are:
(2 mks)

a)
Blind
 
– computers that respond to touch and sound (voice)/Braille keyboard


b)
Without hands 
– computers that respond to voice

8.
State two ways in which a computer may be used in efficient running of a hospital.













(2mks)
· storing patient records

· Monitoring  patients e.g. babies in incubators, ICUs etc

· Diagnosis, data from sensors attached to the patient can be fed into a  computer e.g. in heart ailments, CAT and MRI scans

· Medical training e.g. using simulations software to show how a body part works

5.
Name six steps in program development cycle in their logical sequence.


(3mks)


i)
Problem definition


ii)
Feasibility study


iii)
System design


iv)
System design


v)
Programming


vi)
System implementation and h/w configuration


vii)
Operation and maintenance

6.
State two methods of minimizing dust in a computer laboratory



(2mks)


i)
Constant cleaning and mopping


ii)
Use a carpeted floor (gathers dust slowly and does not raise dust)


iii)
Users to remove shoes.  This ensures that no dust is carried to the room.

7.
Differentiate between primary memory and secondary memory. 



(2mks)

· Primary memory refers to the storage capacity of the CPU.  It holds data and instructions currently in use.  Also stores immediate results from processing waiting transfer to the output devices.  Primary memory is volatile, i.e contents held transfer to the output devices. Primary memory is volatile, i.e. contents held are lost on power loss.

· Secondary memory or backing storage refers to the storage of programs and data files, not currently being operated on.  Secondary memory is non-volatile or permanent, i.e. Contents held are not lost on power loss.

8.
List the steps that you would use to correct wrongly spelt words in a document using the spell-checking feature











(3mks)
i)
Start the spell checker e.g. f7 or click on tolls the spelling and grammar

ii)
Use the spelling and grammar dialogue box to adjust the words as you 

wish


iii)
Continue the process till the whole document is spell checked.

9.
Differentiate between single-user and multi-user operating systems giving an example of each.














(3mks)

· Single user O/s – allows one user to operate one program at a time in an 

· Interactive conversational mode e.g. MS-DOS

· Multi-user O/S – Computer system can be accessed by several users or applications simultaneously.

11.
List three differences between a microcomputer and a super – computer


(3mks)


Microcomputers



Supercomputers

1.
Small in size



1.
Huge in size

2.
Low speed compared to 

2.
Fast processing capacity


Supercomputers

3.
Intended for use at home or

3.
Mainly used in scientific and 


Offices for normal application 

engineering application e.g.



Like WP




weather forecasting

4.
Low cost compared to supercomputers 4.
Very expensive

12.
Distinguish between system software and application software



(2mks)

· Systems software- Manages the operation of the computer itself.  Examples are operation system, Assemblers, compilers

· Application software – handles the needs of the end-user e.g. general purpose packages like word-processors, spreadsheets etc.

13.
Explain any three of the terms: Creating, editing, printing and saving as used in word- processing.












(3mks)

· Creating –starting a new document

· Editing- altering contents of a document

· Printing- getting a hard copy of the typed document

· Saving – storing a document on secondary media

14.
List three file organization methods in a computer.





(3mks)

· Serial (heap)

· Sequential

· Random

· Indexed Sequential

10. 
a) 
Describe the term data integrity 






(2mks)

· The quality of correctness, completeness, wholeness, soundness and compliance with the intention of the creators of the data
 
b) 
State four situations in which data may lose integrity (2marks)

-  Accidental insertion/alteration/modification/destruction
-   Deliberate insertion/alteration/modification/destruction

-   Transfer errors 

-   Lack of input validations

8. 
Using six bits, find the two's complement of -2310. 





(4 marks)

23÷2=11R1

11÷2=5R1


2310=0101112
5÷2=2R1


Twos compliment = 101000 

2÷2=1R0




               + 1 
1÷2=0R1




         1010012
7. 
State four benefits of using a computer in a school library 




(2 marks)

a) Record keeping made easier e.g. easy to track borrowers and books

b) Easy to search for library materials.

c) Books and other materials can be held electronically hence allowing multimedia usage.

d) Library materials can be electronically marked thus minimizing loses and theft.

3.
Jane has noticed the following problems in her computer:

· It is taking longer time to start up;

· It is  often hanging

· Applications are taking longer to load.

State three possible causes of these problems and how they can be solved 


(3mks)

a) Disk is fragmented - Defragment the disk by running the defragment utility. "

b) Virus/bug infection - run the antivirus utility

c) Capacity of RAM is small- Increase the size by replacing the existing chip with a higher capacity RAM chip.

d) Processor speed is low - Replace processor with a high speed processor.

15.
What is the use of the search and replace future in a word-processor 


(2mks)


i)
To locate a particular word or character or text


ii)
To locate and replace the occurrence of a particular word/text or character 

with another

1. (a) Explain what is meant by batch processing





(1mks)

· Transaction are accumulated over a period of time and then processed at a pre-specified time to produce a batch of output

(b)Give one advantage and one disadvantage of batch processing 



(2mks)

Advantages

· Simple to develop

· Timing of the reports is not necessary

Disadvantages

· Time lag between origination  of the transactions and the information  availability

· Late  information is not suitable for  situations where instant decisions are required

2. List any four high level programming  languages





(2mks)

-
Visual basic
- Basic

-
Pascal

- Java


(Any programming language that uses English like syntax)

3. (a) List any four tasks that an electronic spreadsheet should be able to perform other than calculations












(2mks)
· Production of graphs

· Automatic  recalculation

· Projection of growth curves through what  if analysis

· Sorting of data

(b) Explain what is meant by automatic recalculation as used in a spreadsheet

(1mk)
-
Feature of electronic spreadsheet system which runs anytime a cell is updated, causing all formulas, functions and macros which depend on that cell to automatically update their  computations

4. Describe the functions of the following  computer hardware components:

(a)
Mouse










(1mk)
-
This is an input device that works in conjunction with a pointer on the screen. It is used for selecting and other input functions. 

(b)
Scanner









(1mk)
-
This is an input device that works with Optical Character Reader Technology to capture data (text and images)

 (b) (i) Define the term application Software






(1mk)
-
Software with a specific function, such as word processor or game. It is meant to benefit the end user.

(ii) Give one example of application software





(1mk)

· Word processor e.g. Ms Word

· Spreadsheet e.g. Ms Excel
17
a) Subtract 11112 from 100112







(1mk)
· 10011-1111=100(



  
b) Using two’s complement subtracts 710 form 310 and give the answer in decimal notation













(4mks)

0111(1(+7)



   -


0011 (1(+3)
[image: image1.wmf]

-0011=1100


Adding the two numbers


   0111(1

+1100


Sum 10011(1


c) Convert

 
(i) 91B16 to octal









(3mks)
91B16 to octal


Step 1

	162
	161
	160

	9
	1
	B



9x162+1x161+11x160(1mk


2304+16+11=233110(1mk


Step 2

Convert 2331 to octal

	8
	2331
	Rem

	8
	291
	3

	8
	36
	3

	8
	4
	4

	
	4
	4



91B16=4433(1


 (ii) 3768 to hexadecimal









(3mks)
 Step1

	82
	81
	80

	3
	7
	6






3x82+7x81+6x80(




192+56+6=25410(1

Step 2




Convert25410 to hexadecimal

	16
	245
	Rem 

	16
	15
	14





3768=FE16




Total 3mks
  (iii) 9.62510 to binary










(4mks)
9.62510 to binary

	2
	9
	Rem 

	2

2
	4

2

1

1
	1

0

0

1( 1mk











0.625x2=1.25(1(1mk










0.250x2=0.50(0










0.50x2=1.00(1




                       




0.62510=1012(1mk










9.62510=1001.1012(1mk

18.
You are provided with the following entries in the spreadsheet.

	
	A
	B
	C
	D
	E
	F
	G

	
	
	
	Months
	
	
	
	

	1
	Items
	Jan 
	Feb
	Mar 
	April 
	
	

	2
	Shoes 
	500
	500
	500
	500
	
	

	3
	Pencils 
	400
	300
	600
	700
	
	

	4
	Books 
	100
	200
	150
	350
	
	

	5
	Ruler 
	900
	760
	350
	102
	
	

	6
	Rubber
	60
	80
	200
	450
	
	


a)
State the cell data type represented by:


i)
Cell A4








(½mk)
· Label


ii)
Cell C 4








(½mk)
· Value

iii)
Explain the difference between cell A 4 and C 4



(1mk)
· Label represent text and, value represents numbers
b)
i) 
Provide a formula for cell E5 that can be used to give 10% increase of cell E5 

(1mk)

· = ES + (ES * 10%)



ii)
Using count function write an expression to determine the number of items greater 300 in the month of January 








(1 ½mks)
· = count (B2 : B6), “>300”)


c)
Explain two reasons why:
i)  Hypertext markup language is not a true programming language.

· Does not have control structures

· Does not have declaration of start and stop

ii)
State three examples of web scripting language.



(1 ½mks)
· UB script

· Java script

· HTML

· PHP

· XML

· ASP
ii) Spam mail 








(1mks)
· Unsolicited mails that are send anonymously to people though their mail box 

d)
Differentiate between validation and verification as used in system development.
(2mk)
· Verification - ascertain of data is correct

· Validation – check of appropriateness of data
e)
Define the terms below:


i)
Chatting 








(1mk)
· Exchange of ideas freely through discussions in a room networked computers

ii)
Website








(1mk)
· Vast virtual space on the internet where information pages for easy  access by external world

iii) 
Distinguish between data encryption and passwords



(2mks)
· Distorting data to prevent un authorized disclosure

· Password – secret code for prevention of unauthorized access to data in a   computer

ii)
Explain the difference between Dry run and walk through 


(2mks)
· Dry run – is where the program is tested in paper before it is typed

· Walkthrough   – style of evaluating a program by a team which reports to  programming term

19.
a) Define the following terms
i. Nibble










(1mks)
ii. Bit










(1mks)
iii. Byte










(1mks)
iv. Word










(1mks) 
  
 b) Explain the use of the following file in an organization






  

(i) Master file









(2mks)
· Contains permanent data e.g. reference, dynamic(

 

(ii) Transaction file








(2mks)
· holds temporary incoming or outgoing data(



   

(iv) Report file









(2mks)
· Contain sets of record a extracted from data in the master file
· used to prepare reports

Any 1x1=1mk

  c) Describe the following terms as used in programming





  

(i) Interpreter









(2mk)
· Interpreter-translate( high level language to an immediate form that can be
executed(



  

(ii) Compiler









(2mk)
· Compiler- processes( statements written in a particular language to machine(language (source code)











   

(iii) Source code








(2mks)
· Source code – programming (statements created by the programmer which is ready(
to be 
compiled







d) State two advantages and three disadvantages of low level languages


(5 mks) 
_1343174053.unknown

